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Time Allowed : 2.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write.

Note: (i) Read each question carefully before answering it.

(i) Write neatly and legibly.

PART -1
SECTION -1
Choose the correct synonyms of the underlined words from the options given. 5x1=5
1.  The mother consoled her little girl.
(a) pretended (b) comforted (c) Ileft (d) scolded

2. Miniature paintings depict Indian culture.

(a) warp (b) portray (c) twist (d) falsify

3.  He always spends his vacation here.
(a) leave (b) holiday (c) journey (d) tour

4. Vetri constructed a bungalow.
(a) designed (b) built (c) demolished (d) destroyed

5. She gathered the information from the internet.

(a) disbursed (b) collected (c) spread (d) listen
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11.
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13,

14.

15.

2

SECTION - 2

Choose the correct antonyms of the underlined words from the options given.

Mani found it difficult to read and write.
(@) hard (b) easy (c) sharp

The boy seemed to have a taste for Mathematics.
(a) delicious (b) sweet (c) distaste

He spoke nervously .

(a) agitated (b) confidently (c) anxiously

It is a latest mobile.

(a) updated (b) outdated () new

He asked the manager to improve the facility in the hall.
(a) Dbetter (b) enhance (c) upgrade

SECTION -3
Choose the best answer :
The train was due at

(a) one o'clock (b) twelve o'clock (c) two o'clock

The hermit lived in a .
(a) cottage (b) palace (c) wood

Moti is a poor ;
(a) Pundit (b) milkmaid (c) disciple

Black beauty dared not move even to the sharp snap of the
(a) stick (b) thread () whip

There was a homeless man, known as .
(a) Cris Mamprim (b) Cesar (c) Asif

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

bad

against

weakly

modern

worsen

eleven o’clock

town

boatman

kick

Vetri

5x1=5

5x1=5
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18.

19.

20.

PART -1I
Choose the correct homophone.
(i) The rises in the east.
(a) Son (b) Sun
(i) I will my friend.
(a) meet (b) meat
(i) I a snake.
(a) see (b) sea
(iv) He will play the in the second play.
(a) role (b) roll

Give the expansion for the following Abbreviation.

@i OTP (i) PAN

Form new words using appropriate Prefix or Suffix.

[re, ness, ful, im]

()  happy
(ii) write
(iii) possible

(iv) success

Write the following sentence in the Reported speech.
(i) “Call the first witness,” said the judge.
(i) “Where do you live ?” asked Sita.

Fill in the blanks with the suitable Collective noun.
[cup, choir, bottle, flock, herd]

(i a of cows
(i) a of birds
(i) a of singers
(iv) a of milk
(v) a of tea

8962

4x1=4

2x1=2

4x1=4

2x1=2

5x1=5
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22,
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26.
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Underline the Conjunctions in the following :

(i)  Gukesh will succeed if he works hard.

(i) He is intelligent but careless.

(iii) Though Vinay is ill, he doesn’t skip classes.

Fill in the blanks with the correct Degrees of Comparison :

(i) tall tallest

(i) big bigger

(iii) beautiful _______~ most beautiful
(iv) rich richer

Syllabify the following words.
(i) department

(ii) again

Find out the clipped words for the following.
(i) advertisement -
(i) examination -

(i) influenza -

Choose the right sentence pattern.
(i) My friend presented me a watch.

(a) SVC (b) SVOC (c) SVIODO
(ii) He is a dentist.

(a) SVO (b) SVC (c) SVA
(i) During the war, many people lost their homes.

(a) SVO (b) SVIODO () ASVO
(iv) Geetha plays Kabadi.

@) SV (b) SVC () SVO

Match the compound words.

Section-A Section-B
(i) Snow walk
(i) Hair set
(i) Tooth fall
(iv) Cat cut

(v) Sun ache

(d)

(d)

(d)

)

SVDOIO

ASV

SvC

SVOC

3x1=3

4x1=4

2x1=2

3x1=3

4x1=4

5x1=5
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PART - II1
SECTION -1
Punctuate any one of the follawing sentence.
(i) gisha and diya went to the movie together
OR
(ii) long ago in a town in denmark there lived a famous woman called genilia

SECTION - 2

Note: Answer any five of the following questions in one or two sentences each.

8962

1x2=2

5x2=10

28. Where did the sparrows build the nest ?
29. What did Asha Devi teach Ajay ?
30. How was Newton honoured by the King ?
31. Why do we use internet ?
32. What is being STREET SMART ?
33. Why did Vetri sell his properties ?
34. Was the King satisfied with the answers ? Why ?
35. Who was the last kill of the Champawat Tiger ?
SECTION - 3
Note: Answer any two of the following questions. Read the following lines and answer the 2x2=4
questions given below.
36. A thing of beauty is a joy forever
Its loveliness increases, it will never.
(a) Whatis a joy forever ?
(b) Pick out the rhyming words from the above poetic lines.
37. Having a friend is like planting a flower.
(a) What is planting a flower compared to ?
(b) What is the poetic device used here ?
38. If all the children could read,

In constructing a vigorous society,

Then we shall succeed.

(a) What can children do to society if they read ?
(b) What do you mean by the word “vigorous’ ?

[ Turn over
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Note

39.

40.

41.

42.

43.

PART -1V
SECTION -1

- Answer any one of the following questions in a paragraph. 1x5=5

Write about Ilavazhagi and her achievements.
What does the poet Arunachalam Chandrasekharan say about his hobby ?
How did Vetri lose his properties ?

SECTION - 2

Write a paragraph about “MY FAMILY". 1x5=5
OR

Your school is going to organize an inter-school dance competition. Write a NOTICE inviting
all the interested students to participate.

SECTION - 3

(a) Read the hints carefully. Develop it into an understanding paragraph and give a suitabli et
title. D

Farmer in a village - had a hen - golden egg - farmer became rich - selling golden eggs -
he is greedy - an egg everyday - not enough - thought to get all eggs - kill to get all eggs -
killed the hen - found no eggs - farmer is very sad.

OR
(b) Read the following passage and answer the questions given below.

Jim Corbett played a key role in establishing, India’s first national park in the
Kumaon Hills, The Hailey National Park, in Uttarakhand, India. It was initially named
after, Lord Malcolm Hailey. Jim Corbett died on 19 April 1955. The park was renamed
in 1957 as, The Jim Corbett National Park. It was named after him to honour his role in
establishing this protected area in 1930s.

Questions :
(i) Who played a key role in establishing the National Park ?
(ii) Why was the park named Hailey National Park ?
(iii) When was it renamed as Jim Corbett National Park ?
(iv) State TRUE or FALSE.

The Hailey National Park is situated in Uttarakhand, India
(v) Complete the following sentence :

Jim Corbett died on
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PART -V

44. (a) Write a letter to your friend about your summer holidays. 1x10=10
OR
(b)  Write a letter to the Police Commissioner about the noise caused by the loud speaker in
a music shop near your school.

PART - VI
45. Quote from memory : 1x6=6

From: Every soul ..............
TR O of courage

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
U@l - 1/ PART -1

@Oy : () Sidensg efamss@ps@ld eflanweflsseab. 15x1=15
(i) OQar@ssuul’_(Herer mrem@ wrHm elleLsefled WsL ghHUmLW
AeoLeows Csirls®sss GNULHLa elamLwlmarub Csrgg
ET(PSALD.
Note : (i) Answer all the questions.

i)
(ii) Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.

1 _—45* eremm eNFIFPM 6T ERTERTT NS S Slweupilen @enLufled jenowyLb.

(21) 0 opod —= () ~1wpod 0 () ~1whpbd-2 (/) -4 HYD -5

_TS is a rational number which lies between
-5
(@) Oand 1 (b) —1andO (¢ -land -2 (d) —4and -5
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8963

2
Qeupmer et lfFwpn eramarfing snl L Cpiorm o ereng ?
=5
(=4) 7 () —

(&) o () Qeveu enangdHb@Eb

Which of these rational numbers have additive inverse ?

-5
(@ 7 (b)
(c) 0 (d) All of these
0.0000000002020 @e iMlaflwe @GHuiB <}, GLD.
(=) 2.02% 107 (<) 2.02x10° (@) 2.02x10~8 () 2.02x10°10
0.0000000002020 in scientific form is
(a) 2.02x107 (b) 2.02x10° () 202x10-8 (d) 2.02x10-10
aulLgHler LrliLieTey =
1
(o) 370 () (m+2)r (@) w2 () 2mr
Area of a circle is
1 9
@ 7™ (b) (w+2)r (c) mr? (d) 2mr

@@ Qsaueus aige Hlaogder urliuarey (a?—b%) &7 WOEGSET LHOID ASHOLD

(a—b) S@@s6T eTafled e Hermid DIVGHET Y, GLD.

(=1) (a—b) (<) (a+b) (&) a*>-b (F) (a+b)?

If the area of a rectangular land is (a?— b?) sq. units whose breadth is (a — b) then its length is
units.

(@) (a—b) (b) (a+b) (© a*-b @) (a+b)?



10.

(a—b)=3 wHmd ab=5 WpE a’>-b3>=

(1) 15 ()18 (&) 62 (/) 72
(a—b)=3 and ab=5 then a3—b3=

(@) 15 (b) 18 () 62 (d 72
x2—5x+6 @ei sryenflger (x—2) (x—p) GnE p @en wHLIY 24, (GLD.
(1) -3 ()3 (@) 2 () -2

The factors of x>—5x+6 are (x—2) (x—p) then the value of p is :

@ -3 (b) 3 (© 2 (d -2

16% sem@pugudle, ¥ 210 -&@ eurbsliulL @@ Garilbuler ghlss eleme erenar ?

(<=4) T 243 (=,)T 176 (@) T 230 (FF) T 250
What is the marked price of a hat which is bought for ¥ 210 at 16% discount ?
(a) ¥ 243 (b) T 176 () T 230 d) T 250

2% par(h euliguile, 2 HaTHHEHES @ AFNEGS SloLsED sl [HeullgdH@Gh
safleuligs@n @eLCuudrer elgHwursd T 1 aaflle, s < arg

24,GLD.

(<=1) T 2000 (<) T 1500 (@) T 3000 (/) T 2500

The difference between compound and simple interest on a certain sum of money for 2 years
at 2% p.a. is ¥ 1. The sum of money is

(a) ¥ 2000 (b) % 1500 (©) T 3000 d) % 2500
@m eugQeurgs WwasCarammger erliGUmgLD Clum (& @LD.
(=1) GnrGsrahsamerL (<) INCETamTRISEETL

(&) QemGarawTmisemerTL () Qumpssorens Carenthisamnar
Two similar triangles will always have angles.

(a) acute (b) obtuse

(c) right (d) matching

[ Hmuys / Turn over
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11. 12 Q&5 wpmbd 16 GF.8 LEs aeysmas CsrarL @ CsmCameans

WPp&ECsTaTSdlen &TewTd 2B LD.

(=) 28 Q&.18 (<=3) 20 Q&.18 (@) 24 Qg.8 (rF) 21 Q&8
The hypotenuse of a right angled triangle of sides 12 cm and 16 cm is

(a) 28 cm (b) 20 cm (c) 24 cm (d) 21 cm

12. Qgr@ssuul L efleurmisEpssrear euenruL. eflerdsiiuL b

(=) Ll eflerdasliuLLDd (=) uL efletés perm
(@) eulL eflemdsliuLLD (r) Blsped CFaieusbd
The graphical representation of grouped data is
(a) bar graph (b) pictograph
(c) pie chart (d) histogram

13. 2 drerL &g QAT @ QgmL.

(=) Qsrrgflwmen

(=) QarréfHlwpm

(8) Csrirsflwrer wHmb CsrréSHwupm
(FF) egbléeena

Inclusive series is a series.

(a) continuous

(b) discontinuous

(c) both continuous and discontinuous

(d) none of these

14. 30 wHmib 250 @enr Qurg LSTE STyenilEeT 2,@LD.
(=) 2%5 (<) 3%5 (@) 2x3x5 (FF) 5x5
Common prime factors of 30 and 250 are :
@) 2x5 b) 3x5 (€) 2x3x5 d) 5x5

15. udlCGemmpreug AUCenrd erawm ereme ?
(=) 55 (<=4) 77 (@) 89 (FF) 144
What is the eleventh Fibonacci number ?
@) 55 ®) 77 () 89 (d) 144
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20.

16.

17.

18.

19.

20.

U@ - 11/ PART - 11

QuUT TGS :

Q&6ueusLD

BLL_LD

Hapes Clseueusid

uGenré eramrlgm e gpeuGleumm
PPETDTEUS;)  MILIL|
Match the following :

Rectangle

Loss

Histogram

Every 3" number of the Fibonacci sequence

Qg Blapteuar Lieud
FTGUELOLD

Ixb

2-&1 LIS

SILES aflever—eflpm allenew

Continuous frequency distribution
Congruent

Ixb

Multiple of 2

CP-5P

U@ - 111 / PART - 111

@GSO : eremeuCuignd LSS leTésEnsE elenweflEseaib.

Note :

Answer any ten of the following.

21. oNdlsupm erawr Camgseaer Ukb(Hs. .__3.4_ LHMILD :21

22,

Compare the pairs of rational numbers 3 and 1

&GS : J12Xx+/3
Simplify : V12 x+/3

2

8963

5x1=5

10x2=20
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23.

24.

25.

26.

27.

28.

29.

&L Sres : (%Jﬁz + [g)ﬁ

4 _2 4 _3
Evaluate : (gj - (g)

35 Q&8 gy raparer aul L auigeilorer glbanTeviqd GUENETIIOTETS 5 FID |ETEETeET
afpserrasl Wisslul( CeueuCGoum Hpriseaiie cuammerrdl il (HeTerg) erefle,
geueur cul L elldelen Berdemnsiyd STenrs.

A circular shaped gymnasium ring of radius 35 cm is divided into 5 equal arcs shaded with
different colours. Find the length of each of the arcs.

(2x+3) (2x—4)-a1 QUHSSD LLenend STeas.

Find the product of (2x+3) (2x—4).

y?=16 & a’>—b? erenim (PpHEDTHeve WL LweTuBSEH eflfleursEs.
Expand y?—16 by using a?—b? identity.

18xy —12yz erenrp Caraneuuder Qumg srrafleow QeuafllCuw rHSHE smrenflii-
UDS5S.

Factorise 18xy—12yz by taking out the common factor.

@i eramrenemr 20% @Genm&sTe 80 SHlevLsEmg erafleh, DHF CTRTHEME TGS

A number when decreased by 20% gives 80. Find the number.

210 gyarser proetrarm&@ 12 wenfl Crrb Ceauame Csug om Cauameamw
18 pratasetlay pig i, 2iGs Geuanavenws prerrenmisa@ 14 weanfl Crrb Ceuene Cawlig
20 pretsafle) (Pg&s TS Dy mser CoHeneu ?

210 men working 12 hours a day can finish a job in 18 days. How many men are required to
finish the job in 20 days working 14 hours a day ?



30.

31,

32.

33.

34.

7 8963
Aeeumd UL Sl 2 arar Qgflwng wdHliLsmens srams.
Find the unknowns in the following figure.

P

50°

@m QerCGsram wasCasramwrarg 5 G&.5, 12 Q&.5 wHmbd 13 Q.5 WdHw .
SjaTeysenend GErarTL Lssmsmar GuDHPHEs Quieior ?

Can a right triangle have sides that measure 5 cm, 12 cm and 13 cm ?

19fley =jamey 10 wHMID 65F& 80 erafled, feysaflen crananlismamu sramms.

If a class size is 10 and range is 80, find the number of classes.

36 wHmID 80 erery eTATHERSEEG QLT HSWPFsH werpuler BURUEm QuTgs
srrenilensd Srenrs.

Using repeated subtraction method, find the HCF of 36 and 80.

Yyelen seng) AnHS BHrEsssTs 4 COFL ML ST, 3 WP(PSSTHD FLENLSET LOHMID 5
Cgrg sreoamisdar curmdlamear. Sjeuen geargienLw WUDHS HreTern 6 Hsenen
dgwrer aufisaiicr grem aurmdlu yHw 2 aLmwsamer yamflbgés Dasraraugnd
QUMULIL&ET 2 6Temg) ?

Praveen bought 4 shirts, 3 jeans pant and 5 pairs of shoes for his birthday. In how many
different ways can Praveen wear a dress on his birthday ?

[ Hpliys / Turn over
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U@ - IV / PART - IV

&MY : eTemeuCuignid 8 eflanméasEns@ eflenLwaflEseaid. 8x5=40
Note : Answer any eight of the following,.

35. % -0 Sl augedled er(Lpgs.

Write % to the standard form.

36. e uEEHD pewmuded 6889-6T CUTES PLPDSMSE SHTERTS.
Find the square root of 6889 by long division method.

37. (=7 2x(=7)5=(-7)0 eraflled x-m& sraws.
Find x so that (—7)**2x(=7)°=(-7)1°.

38. \

20 Qs.

20 Qs

50 Qg.8
30 Qg..5

L

120 Q.18 i

!
.

@ geysamamuier uLwrarg, CwlGa Car@aslul_HeaTaTeurn | eTe SH®meTs
CasTaRT(HeTargl. HSem LFLILIeTeneUs SHTeis.

20 cm 20 cm

50 cm
]
30 cm

} 120 cm |

A rocket drawing has the measures as given in the above figure. Find its area.



.,

40.

41.

42,

43.

44.

9 8963

(103)® @eir wHliLE HTeTs.

Find the value of (103)3.

(a—-b)3>=a%-3a’b+3ab%-b3  ereup WpPHE e L em WL vweruBgH
y®> —18y?+ 108y — 216 eranm Gareneuenit sryanflliLBSES. :

Factorise the expression 13 — 18y + 108y — 216 using (a—b)>=a3—3a?b+3ab?—b? identity.

@ ered.@) .19 (LED) Gsrenevssridfulen elpueamer eflevawrerg isen 2iL&s

aflenavenwits Cumres) % LI eTafled, QaTuF FFeigd Sraws.

If the selling price of an LED TV is equal to % of its cost price, then find the gain/profit

percentage.

15% <par® euligulled, 3 D arHsEH&EE HaLEG sl HeulkéEGh safleulgéEwn
@en_Cuwwyerer aflgHwrsd T 1134 erafled, Fmend STeims.

Find the principal if the difference between C.I. and S.I. on it at 15% p.a. for 3 years is ¥ 1134.

@ BmHEwuss WsCesransde swUGERGH gaCeaurargb 13 GF.5 wHHLD
Sjg UGS 24 C&.5 erafle), Sigem 2 WTSmss STans.

An isosceles triangle has equal sides each 13 cm and a base 24 cm in length. Find its height.

ussmTd eu@Uy GQurgsds Carelled 25 wremeurser ar(HHS mﬁﬁ@us&n&@égg
QarEssiul L Hlaspbleudr ured oL aumamawd Swmi Cals.

214, 200, 120, 359, 800, 600, 321, 400, 219, 178, 306, 207, 221, 426, 549, 316, 649, 700,792,
341, 589, 662, 784, 291, 300.

Form a grouped frequency distribution table for the marks obtained by 25 students in
X 5td. public examination.

214, 200, 120, 359, 800, 600, 321, 400, 219, 178, 306, 207, 221, 426, 549, 316, 649, 700, 792,
341, 589, 662, 784, 291, 300.

[ Spliys / Turn over
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45. &z werpGHUIH +4 @i Leuemen Qgm@lenul LwaUBSS wephgaTar @rasw
TGS WLSDSE SIS,
fvieo mr gshiw ger fi xvmgoc.
Use Ceasar Cipher table set +4 and try to solve the given secret sentence.

fvieo mr gshiw ger fi xvmgoc.

46. uUeafl reRTEUTHEHEETE BTeE Qoss aflens erameanfly ae @assbd A, B,C, D
wpmitb E eremm g eT(psgisafley garaig @m yndle aupsdameand QaramHin
Sigemaend QFrLiihg eubd epenn @Qessmiser geubeurarmid 0 g 9 euanruiemer
10 crammsenars CsrarT(HLd 2jenbglerens) erafler euflens ereawr enUILIFNE eTHSMmae
eligrer euflaeT o arerg ? (A000, BO0O, C000, D000 wHmd E000 gedly)

Roll numbers are created with a letter followed by 3-digits in it, from the letters A, B, C, D
and E and any 3-digits from 0 to 9. In how many possible ways can the roll numbers be
generated ? (except A000, BO0O, C000, DOO0 and E000)

U@ - V/PART -V .

@MDY : Wereumd elamés@Erss eflewelésayLb. 2x10=20

Note : Answer the following questions.

47. (=) CA=6 @&.15, AP=8 Q&5 wHmd CP=5.5 Q5.15 jereysemers Qg e CAMP
ETEm @)ENEMTETLD CUENTHG! HS6M LIFLILIGTENGUS STeiTs.
360605
(=) LA=8 Q&..5 wpmib AD=10 Q&..8 ereyser Qsraw. LAND eram GQgeieusid
GUENTHS ST LITLILIGTENGUS STeTs.

(a) Construct a parallelogram CAMP with the measurement CA=6 cm, AP=8 cm and
CP=5.5 cm. Find its area.

OR

(b) Construct a rectangle LAND with the measurement LA=8 cm and AD=10 cm. Find
its area.




48. () y= —3x eTaD FETLIM_IGMNE GUMTULLD GUDTSE.

S0V

11

(=) Sssramid eleurmiisEnsE Hawed GFaueusd aumrs.

|_‘|'|;ﬂe,| P enL_Cleauafl 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60
LD IT 6507 61 IT R
.“'ﬂ“' 5 15 23 | 20 10 7
16001 owefl & 60 &
(a) Draw the graph of the equation y= —3x.
OR
(b) Draw a histogram for the following data.
Class Interval 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of students 5 15 23 20 10 7

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
PART -1/1- &
15x1=15 gl e () &S
s A L S iz Ssive e L e (i)
Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.
= " ~=5
-;‘_cil,uw.ﬁ :?ﬁ'.)ﬁdbl:-g i o |
-5
—5.14-4 (d) -2 -1 {c) 0.-1 (b) 7 20 (@
—T is a rational number which lies between
-5
(a) Oand —/— () —-1land O () -1land -2 (d —-4and -5

-

[ 2 4¢ / Turn over
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st Sl U Blobilel Pre iUt S 5t

=5
-z (d) 0 @ —  ®) 7 (@
Which of these rational numbers have additive inverse ?
-5
(@ 7 (b) - (c) O (d) Al of these
% < FBEL-J 0.0000000002020
202x10-10 (d) 202x10-8 (o) 202x10-2 (b) 202x10° (a)

0.0000000002020 in scientific form is

(a) 2.02x10° (b) 2.02x10°° () 2.02x10°8 (d) 2.02x10-10

- % 26071

2rr  (d) w2 (c) (m+2)r  (b) % wr?  (a)
Area of a circle is
1.9
(@ 5 (b) (m+2)r (c) mr? @ 2mr
Sunoge _ §Eie @-b) dugd e d61E, (a2-bY) Skt
(@+b)3? (d) a*=b. () (@+b) (b) (@-b) (a)

If the area of a rectangular land is (a — b?) sq. units whose breadth is (a —b) then its length is
units.

@ (a—b) (b) (atb) (€ a*-b (d) (a+b)?



- a’-b¥= 7 ab=5./(a-b)=3
7@ 2 @ 18 (b) 15 (a)
(a—b)=3 and ab=5 then a>-b>=
(@) 15 (b) 18 © 62 @ 7

- cedd po gt (x=2) (x—p) #2L 2—5x+6

-2 (d) 2 (9 3 (b) -3 (
The factors of x>—5x+6 are (x—2) (x—p) then the value of p is
@ -3 (b) 3 (© 2 d -2

WAL 1210 4293 16% 2 nediuBide s
T250 (d) 230 (0 T176 (b) T243 (a)
What is the marked price of a hat which is bought for ¥ 210 at 16% discount ?
(a) T 243 (b) T 176 () T 230 (d) T 250

A ¢ 1 Ll 2% UASS G L L d LJv 2 (AP

- fj

32500 (d) 73000 () 21500 (b) 22000 (a)

The difference between compound and simple interest on a certain sum of money for 2 years
at 2% p.a. is ¥ 1. The sum of money is

(a) ¥ 2000 (b) T 1500 (c) X 3000 (d) ¥ 2500
—Sln 2 il U35
&2 (d) 6 (0 ¥ (b) b (a)
Two similar triangles will always have angles.
(a) acute (b) obtuse (c) right (d) matching

[ &4/ Turn over
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4
~bw },K&:,I)IKFLI,Q)L" 16 cm 2/ 12cm
2lcm  (d) 24cm (o) 20cm (b) 28cm (a)
The hypotenuse of a right angled triangle of sides 12 cm and 16 cm is .
(a) 28 cm (b) 20 cm (c) 24 cm (d) 21 cm
- .g_;h»gld:/"{:.,gb"gﬁs)’
o8P (b) 28k (a)
i (@) el (©
The graphical representation of grouped data is
(a) bar graph (b) pictograph
(c) pie chart (d) histogram
e G LG
S @
J7 o)
ui»d)//_-“my ()
Gty (d)
Inclusive series is a series.

(a) continuous

(b) discontinuous

(c) both continuous and discontinuous
(d) none of these

Lzl S 250 1 30

5x5 (d) 2x3x5 (c) 3x5 (b) 2x5 (a)
Common prime factors of 30 and 250 are :
(a) 2x5 (b) 3x5 () 2x3x5 (d) 5x5

¥ ‘4.15616 (Fibonacci number) g,i,tl,.iulmlf

144 (d) 89 (o) 77 (b) 55 (a)
What is the eleventh Fibonacci number ?
(a) 55 (b) 77 (c) 89 (d) 144

11

A2

13

14

15
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PART - I/ 11 - &4}

5x1=5 AT NPT
- : & a6
Fe - U 17
Ixb - = .18
Seag2 - P 19
CP-SP - s 2pkh by 20
Match the following :
16. Rectangle - Continuous frequency distribution
17. Loss - Congruent
18. = - Ixb
19. Histogram - Multiple of 2
20. Every 3" number of the Fibonacci sequence - CP—-5P
PART - III/ I - &/}
10x2=20 SISt B3 e S5t o

Note : Answer any ten of the following,.

-y 3 .
S — o bt 2

Compare the pairs of rational numbers 3 and 71
—4 2

J12x4/3 é‘_f 22
Simp]jfy: J12x43

[ gg‘ / Turn over
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aY?  (4Y?
Evaluate : [g} iz (g)

JJ:-’;«;.,‘at‘lgg&ﬁaﬁdﬁ‘fugﬁéfﬂ:{ﬁur;dsv 5 /,Zﬁ;czéfdju,géﬁ_w 35 cm
el

A circular shaped gymnasium ring of radius 35 cm is divided into 5 equal arcs shaded with
different colours. Find the length of each of the arcs.

I AN (2x+3) (2x-4)

Find the product of (2x+3) (2x—4).

e ES 216 Ll JJEEastE a2 — b2

Expand y?—16 by using a?—b? identity.

_ZE I el S S 18y — 12y

Factorise 18xy —12yz by taking out the common factor.

_Z_{(yt”uiu_‘at’ﬁwla 80 c'_d_/?’ 20% Ju&..g

A number when decreased by 20% gives 80. Find the number.

Z“LLL/?KUJ&&"M Juh 20 :((KJLU.?L/E}U.‘.'U;J 18 rK_QL%KUJG&’lZ 37 210
?d;n:«»/bd/u»/

210 men working 12 hours a day can finish a job in 18 days. How many men are required to
finish the job in 20 days working 14 hours a day ?

24

.26

27

29



7
: Z Uit Ft s
Find the unknowns in the following figure.
P
50°
X Yy R

?u__?GCn 13cm 2! 12 cm <5 cm UQ’U(}/ CM!LJG,,U:.«%“L(

Can a right triangle have sides that measure 5 cm, 12 cm and 13 cm ?

IS Uyt T 80 sl 10 FLE L]

If a class size is 10 and range is 80, find the number of classes.

& HCF K 80 1 36 Lnl S5 b8 J60F

Using repeated subtraction method, find the HCF of 36 and 80.

< URPBEE R Lyt sg-J x7ULIR 5 SUTrnlasn 3 o2 f 4 sl Loy
V‘Ll:cuﬁ:

Praveen bought 4 shirts, 3 jeans pant and 5 pairs of shoes for his birthday. In how many
different ways can Praveen wear a dress on his birthday ?

[ &4 / Turn over
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PART -IV/IV . &

8x5=40
Note : Answer any eight of the following.

Write % to the standard form.

Find x so that (=7)**2x (—=7)°=(-7)10,

50 cm

20cm 20cm

50 cm
30 cm

} 120 cm

(=7)*2x (=7P=(=710 Soy /o x

20 cm

etk deue St Pl

= |

A rocket drawing has the measures as given in the above figure. Find its area.

i 103)3

Find the value of (103)3.

-—LZ/U’G‘-'U”’ p"f(j)(;.gﬂd’“}(w :

e

i 6889 .-;.m;)u‘j :Jj

Find the square root of 6889 by long division method.

20 cm

37

.38

39
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S Pz S5l (a—bP=a%—3a2b+3ab2— b3 JAZ 13182+ 108y~ 216 40

Factorise the expression y> — 18y + 108y — 216 using (a—b)?>=a®—3a%b +3ab2—b> identity.

LBl ) Sebud o oL % IS dS LEDTV ST

If the selling price of an LED TV is equal to ; of its cost price, then find the gain/ profit

percentage.

ke tn 71138 LU0 3 200 15% AT Sl Sl Al a2

Find the principal if the difference between C.I. and S.I. on it at 15% p.a. for 3 years is ¥ 1134.

_ér}"‘JLfﬂJJF_g_ 24 cm (jLJd/ 246l 13 cm Iy Jw@'wd,u.p 43

An isosceles triangle has equal sides each 13 cm and a base 24 cm in length. Find its height.

2 b oS Lt MBI LN 25 Loty X 44
214, 200, 120, 359, 800, 600, 321, 400, 219, 178, 306, 207, 221, 426, 549, 316, 649, 700, 792,
341,589, 662, 784,291, 300.

Form a grouped frequency distribution table for the marks obtained by 25 students in
X Std. public examination.

214, 200, 120, 359, 800, 600, 321, 400, 219, 178, 306, 207, 221, 426, 549, 316, 649, 700, 792,
341, 589, 662, 784, 291, 300.

[ g{;y / Turn over
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2L IS S Pae B o s S sononZE ) +4 o B0y 45
fvieo mr gshiw ger fi xvmgoc.
Use Ceasar Cipher table set +4 and try to solve the given secret sentence.

fvieo mr gshiw ger fi xvmgoc.

G L oL i (e 9 £ 0 St 7Ll E sl A,B,C,D 7 46
(E000 s/ A000, BOOD, C000, D000 Z1v) Stzbsl ¥ ne R IGE _ 2 b

Roll numbers are created with a letter followed by 3-digits in it, from the letters A, B, C, D
and E and any 3-digits from 0 to 9. In how many possible ways can the roll numbers be
generated ? (except A000, B000, C000, D000 and E000)

PART-V/V - &4

2x10=20 cZ S vour s &9

Note : Answer the following questions.

- CAMP Cu‘luidﬂ}"...g ;.u;jgd/ CP=55cm »# CA=6cm, AP=8cm (a) .47
_zi(PJJKm
|
3Kt AD=10cm » LA=8cm ke JU %t LAND O o)

(a) Construct a parallelogram CAMP with the measurement CA=6 cm, AP=8 cm and
CP=5.5 cm. Find its area.

OR

(b) Construct a rectangle LAND with the measurement LA=8 cm and AD=10 cm. Find
its area.
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b/ y=—3x=hls (@) 48
k
: g}f/ﬁ M\-«Q&—&WJ“ sk (b)

50-60 | 40-50 | 30-40 | 20-30 | 10-20 | 0-10 | 5 {1z
7 |10 [ 20 [ 23 |15 |5 |l

(a) Draw the graph of the equation y= —3x.
OR
(b) Draw a histogram for the following data.

Class Interval |0-10|10-20(20-30|30-40{40-50|50-60
No. of students | 5 15 23 20 10 74

-00o0-
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Time Allowed : 2.00 Hours ] [ Maximum Marks : 100
Sifleyemrset : (1)

(2)

Siemang g ellenréaend sflwursl udeurdl o erergm eramugemer FAumTdgé
Qameremayd. HFHLILSND GanpulHLiden, Sienmd semamewtlliLmemilib
2 Langwnsd Czflelssea.

oo wg smUY owlmar wWLHCL  TWSUSHEGLW
24 5CHT Heusn@h LweatuBds CeuamB. ULBSE aamTausnE
Guendled LweTUHSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
U@l - 1/PART -1
Yifley - 1/SECTION -1
GOlUY : () Semensg clamssEnsEn eflanwelléseyL. 15x1=15
(i) Qasr@ssuul(Herer mres@ wWrHm elenLsafled Waab gHyemLw
deLemws Casrptdsmsssd GMUELBLa L wmaruyn Carsg
GT(LPSHEYLD. ‘
Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.
1.  WenGeanmL b eremug) S|ETe| GLD.
(@) @iglueL () goahow  (§) wf () Camfle srips
Electric current is a quantity.
(a) base (b) supplementary (c) derived (d) professional

[ $lLiys / Turn over
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2. umevse 6l & vwerHHmg).
(=) Bllwed 2 wirsd (=) s Qegusd (19Crs)
(@) SiwssuulL CQurd () Cupsar_ emarsgd
Pascal’s law is used in :
(a) hydraulic lift (b) brake system
(c) pressing heavy bundles (d) all of the above

3. ol ypwrs adlrrefla@d urlieou 2 el eumeTe] g

(=) Gl 2piq () G 2l

() cuearey <l () Qeupled ergiayislcreney
The spherical mirror with a reflecting surface curved inward is called :
(a) convex mirror (b) concave mirror

(c) curved mirror (d) none of the above

4. e 2wl ereTLF (M :
(<=1) gmedl -
(<=4) GDHS Wengen Gamrearr g Wlensbid
(@) =dls Wangen CamewT ¢ WlenabLd
() Wemamerm el QFeusHEGU LWaTUBHSSIUGL @@ UTHETULE SHmHell
Fuse is :
(a) a switch
(b) a wire with low resistance
(c) a wire with high resistance
(d) a protective device for breaking an electric circuit

5.  Seuliys Camer eremm enpdsliLbhieug 2 GLD.
(1) usen (<) Qeucraf (@) Y () Q&eieumis
is called as Red planet.
(a) Mercury (b) Venus (c) Earth (d) Mars



10.

3 8965
sf&Gamellen (Cuanflelen) BHSSMge @HLILS :
(=) Slpmeeemul () @eurbd (@) @gbilaflun (F) sHssD
Pencil lead contains :

(a) graphite (b) diamond (c) aluminium (d) sulphur

Geul L tiul L @y unbler uluns wrpeugH@&s srrerone HlpL

(=1) BCrolw @by () <pses® (<) Qe e

(@) evLmié (r7) @Gamen
The pigment responsible for browning of apple is :

(a) hydrated iron (II) oxide (b) melanin
(c) starch (d) ozone
sTHCoHpL CElwiuc L Bl 2 @Teng).
(1) sTHD) (<) 2&&ge
(@) smiuer e Y ss(h () enpLygen
Aerated water contains :

(a) air (b) oxygen

(c) carbon-di-oxide (d) nitrogen

arhs Qeutiufleneoudey Bir vafés gwrs wrHowedL b ?
(1) 0°C (<) 100°C (@) 102°C (/) 98°C
At which temperature water changes to ice ?

@) 0°C (b) 100°C () 102°C (d) 98°C

Qupens eurwyelled GumbUraTLWITET LGHUGLMmET
(=) B56Csen (<) Fr&Cge (@) yCrmiGuerr () Gy CLemr
The main component of natural gas is :

(a) methane (b) ethane (c) propane (d) butane
[ imliys / Turn over
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i1,

12.

13.

14.

15.

4

Gemeu(meuaTeLDMIET 2 GRTemS HGHS STerTmen 6Td ?

(<=1) umreGumyen (=) sTigen
(@) Queflfledlwib () evurgléeen
Which one of the following is an edible mushroom ?

(a) Polyporus (b) Agaricus

(c) Penicillium (d) Aspergillus

Beorulraiée@ e drGenyd GeuefGuuyb eumuyd uflorppbd e Cupb HlaspelnE
ererm QUi

(=1) 2 Lseursid (<=,) QeuaflFseuraid
(@) seursbd () gglloeame
The process of air passing in and out of the lungs is called
(a) inhalation (b) exhalation

(c) breathing (d) none of these

pretiflever &ridserred 2 Husd Gslwiu®n Ceudll Qumrmerser
erarL(hLD.

(<=1) anmiGomenaer (<=t) Qprser
(@) yrsmser () GQasmupuy blemiser
are the chemical substances, secreted by endocrine glands.
(a) Hormones (b) Enzymes
(c) Proteins (d) Fatty acids
WPSHIDENE GUETEN6IMEIE, FFeRTTaWILD wreul LSS enLhgIaTerg).
(@) Qsarar (<) srsdlupd (@) Sedif () Gga
Mudhumalai Wildlife Sanctuary is located in district.
(a) Chennai (b) Kanchipuram (c) The Nilgiris (d) Theni

______ crarm GOWE erdFssmert LwaTUBSHID GSHTSHL GL b

QumF g
(<1) Ampersand (&) (<},) Comma (@) Exclamation (/) Hyperlink
The __ character is used in text formula.

(a) Ampersand (&) (b) Comma (c) Exclamation (d) Hyperlink




16.

17.

18.

19.

20.

21

22,

23.

24.

25,

Slfley - 2 / SECTION - 2
Camg L @Liiseer Hlyliys
Fill in the blanks.

SlarogGarenTid ererm e SeTEsLLBHEDG.

The solid angle is measured in

eraflu LTHrewLTET W6 LPS6ie

A simple barometer was first constructed by

8965

10x1=10

GTEITLIGUTTE) 2 (HeUMSSLILILL §).

MearSensener upduyw Csrargamerts upHuyb URSGL sMelwe Gfley

The study about stars and planets is known as

BIeT ‘2 08 cuaedleon@ Sarorss Qararm _LuBdHng.

is observed as “World Wildlife Day’.

Bflen Qardlflenew
The boiling point of water is

uig erRCummEREE @f 2-.Srremrbd
An example for fossil fuel is

(PSOTeUZ 2 amenwrer Hleod Sreurid
The first true land plant is

Qrew(®H eraibLser FhHE@GD @LLb

The place where two bones meet is termed as

@owus ssg0 uppTEGED 6@ aflai@ssng.
Iron deficiency leads to

e erglmbdlen sHemio Qarar Qja;dr.
is a negatively charged particle.

T SnP&SILHEMG).

[ Hmlys / Turn over
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QumBSHS
26. BloLdflens

27. Bl grenser

28. sgen Bir

29. Sdlemiser

30. <&CLan wHUTH
31. eswGanm. .enusl
32. BEp&sGamen

33. U(ReULEL 6D

34. 2.W9f - o grser

35. amgruetey Caslwl mism
Match the following.
26. Dispersion of light

27. Neutrons

28. Hard water
29. Acids

30. Octane rating
31. Cyanophyceae
32. Glucose

33. Puberty

34. Bio-fertilizers

35. Sundarbans National Park

Yfley - 3/ SECTION - 3

aulpm 2 LrengaEeT
QuL_Crmed

CO,, B wHmid Geuliub
umedler updliés]

CunE eumSLD
cumanedled

Cgev Friells

Yeflliy &eneu

Beols ugengls LTl

wewr cuerdeng CbuU(HSSIH60
Stomach ailments

Petrol

CO,, water and heat
Sexual maturity

West Bengal

Rainbow

James Chadwick

Sour taste

Blue green Algae

Improves soil fertility

10x1=10
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S1fley - 4/ SECTION - 4
@Ouy : efim arismgseie elawellsseywb. 5x1=5

Note : Answer the following questions in one or two words.

36. gqaflFedellen SI e ereman ?

What is the SI unit of luminous intensity ?

37. e Garsl CuralsEnsE Qrear® THSSISSTHSET S(Ha.

Give two examples for metalloids.

38. Guaflflelgensd sam_Mbgseur wrr ?
Who discovered Penicillin ?

39. sTeen — UMIWLMISSE|LD.
Define Thallus.

40. sTHM Haweamennsaiien Lamfludamensd Fmmis.
Mention the function of “Alveoli’.

U@ - 11/ PART - 11
@MUY : gCseid LS HaTEsErsE H(HESWLTE aflen wiehdsea,b. 10x2=20

Note : Answer any ten of the following questions in brief.

41. GeuliuBleneveni eredll L LiwemUHLD pPETN DHOGHMETEH Famis.

Name the three scales which are used to measure temperature.

42. Qeuliu gy Hmedler elleneare s eT wrenel ?
What are the effects of heat energy ?

, 43, YelsQsTHLY eTemmTed eTeme ?
What is earthing ?

BQwired eremmmed ereven ?

: / What is an ultrasonic sound ?

I

[ Hays / Turn over
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45.

46.

47.

48.

49.

50.

51.

52.

53.

8

prerede uaflwrpilu Ho @pdHursefler QuuwiTsmers GHLGGHS.
Name the Indians who worked at NASA.

Qereupd saflomsaflan GHuSHamer er(pgis.

(=) bdigan (<) BB (8) sreodlwib (F) @mby
Write symbol for the following elements :
(a) Oxygen (b) Gold (c) Calcium (d) Iron

2 QUG GTEmLIZ) CTEem ? HSEM LILIGTSEMET 6T(LSIS.

What is dry ice ? What are its uses ?

2 Carr(h sdliseflen Coed QrawT(h LMTLSDET 6T(LSIS.
Write any two properties of anode rays.

Sl — euTLMIESa|LD.

Define Acid.

SWBPBHTL e srHprae@smert LwaUuBsSH srHprHme 2 HusdH Geuwiu@Bn
Q)L s 6T (LGS

Name the places in Tamilnadu where wind energy is produced using windmills.

Crmusd(mLilser erampmed eremmam ?

What are pathogens ?

UTSl&@hEELD, LEhanssEns@h 2 arar Caupurhise gGCsaub @reamg e 6r(psis.
Write any two differences between algae and fungi.

YCrrGaflwmes Cse — euenrumdsay.
Define Prokaryotic cell.



9 8965

54. umeueL gellen GCurg gHUBL WIHDEGMETL UL iGwelBHS.
List out the changes which occur during puberty.

55. Pl smeuruier o crer Qerhiser eranmTe) erenan ? @rew® er(HSSHESTL(HEET
&(Hs.

What is endangered species ? Give two examples.

U@ - 11/ PART - 111

\9fey - 1/ SECTION -1
@My : Gemeumd efamésEns@ el weflésab. 2x5=10
Note : Answer the following questions.

56. FreVL_lg6l LU LULLD euenrhgl UMEmEmeTs @GEsea]L.
Draw a neat labelled diagram of the structure of Yeast.

57. <bur ewllbamear UL umIbHg UTERE®m6s GDéseaw.
Draw the structure of-Amoeba and label its parts.

Sifley - 2/ SECTION - 2
GOy : Spsaramib edlamssEhsd el weflésey. | 6x5=30
Note : Answer the following questions.

58. (1) SgLILenL jeTe sameT jeunmlen @GS EhL 6 LILigwielHs.
EYENEVE S
(=) QuilevCarl Geueu@b elisb DM efeufléEseayw.
(a) List out the base quantities with their units. ‘
OR ’
(b) Explain the working of a periscope.

59. (=) Hlevadlensr g eremmmed ereman ? 2ig GQFweou@d wermer elleTéEEs.
360608
() yelsaThsn LHH GHLELLSS.
(a) What is electroscope ? Explain how it works.
OR
(b) Write a note on Earth’s magnetism.

[ Hpliys / Turn over
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60.

61.

62.

10

(=) Weameupd Cemomsefler LweTsamars @GN [HS.
(i) Gymig Germ
(i) sweneuSGeT
(i) &L FeRTemrmidLy
S|6VEVG)
(<) EpssramucuDmL 6 SriLeT-mL As&ms® ereueury eHeeafldpg ?
i) Cemguwid
(i) seawrewrmbdL B
(iii) Cemgqwid evapl yréensH
(a) Mention the uses of the following compounds.
(i) Baking Soda
(ii) Bleaching powder
(iii) Quick lime
OR
(b) How does carbon-di-oxide react with the following ?
(i) Sodium
(ii) Lime water
(iii) Sodium hydroxide

(=) srrisefler LwenseT Wreney ?

SIEVE0F)
(=) Blessfluler uwGeaum euamasaeTi LINM eflaTs@s.
(a) What are the uses of bases ?

OR
(b) Explain the different types of coal.

(=) urdleflur wHMDL g6 senwlnbeaears upd Hn GHUY T(PSHIS.

IEXENENE S
(=) 2 L seurssn@w, Ceualiégzeurasdn@n @ent Cuijearer CaumurHaeT wreneu ?
(a) Write a short note on bacteria and its structure.

OR
(b) Differentiate between inhalation and exhalation.
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63. (=) wafly 2L 6fléb er@bLsd dnligen QFwOUTHSET Wreneu ?
D|6060F)

(=) smsmend &55LMH0 D HCrrEwbrsea)b meausgsd Carearer 2 6 6@
BeTUTSEREE b ereen Lflbgieny QEweumd ?

(a) What are the functions of skeleton in human body ?
OR
(b) What can you suggest to your classmates to keep himself/herself clean and healthy ?

-00o0-
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_q:CLl-bfJu’lf;;’fu!)?ﬁJﬁnﬁ;ﬂ&{iﬂ/ﬁ_é/é@J;.{dfré.éég..ﬁLa (1) :=tls
e L L ke Sl L8 S el @)

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

PART - 1/1- &}
SECTION-1/1 - ¥
15x1=15 il e (i) S
..éf-_z'ﬁ.’i@"u|3:(K_.«|£j';ﬂ’&'§?’£c{}u:}}’c. u:_-.u:l,hlgéan-; (i)

Note : (i)  Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.

—e L vl a
wstd of .
sk (d) F © & o) S ()
Electric current is a quantity.
(a) base (b) supplementary (c) derived (d) professional

[ gg‘ / Turn over



bl H L
s ) el @
Ehoer  (d) Sl il ()
Pascal’s law is used in :
(a) hydraulic lLift (b) brake system
(c) pressing heavy bundles (d) all of the above
2 q_t‘llpcc‘_ and;’..glg(-}uﬂi’u’ﬁldlf,;jfd;/
2% (b) Zest ()

S S asr  (d) 215 (©
The spherical mirror with a reflecting surface curved inward is called :

(a) convex mirror (b) concave mirror

(c) curved mirror (d) none of the above

Lo Ud)

brdl @

#E AL (b)

| LGkl (o)
sl SE3e (@)

Fuseis:

(a) a switch

(b) a wire with low resistance
(c) a wire with high resistance

(d) a protective device for breaking an electric circuit

—e bl
&7 (@) L (© e (b) s (a)

is called as Red planet.
(a) Mercury (b) Venus (c) . Earth (d) Mars



e JELYS
@ @ = ) S @
Pencil lead contains :
(a) graphite (b) diamond (c) aluminium (d) sulphur

e sk Lf e AL o

S (b) ST W) 0T ik (@)
aisl (d) =& (o)
The pigment responsible for browning of apple is :
(a) hydrated iron (II) oxide (b) melanin
(c) starch (d) ozone

T () v @

G (d) U6 (©)
Aerated water contains :
(a) air (b) oxygen
(c) carbon-di-oxide (d) nitrogen

?‘é.t'lgcﬂ-jl.dkg:.—ﬂ/,gwuf
98°C (d) 102°C (o) 100°C  (b) 0°C ()

At which temperature water changes to ice ?
(a) 0°C (b) 100°C (c) 102°C (d) 98°C

Le 2 lKJ{ Ju-;
FE @ oy © 1 () & @
The main component of natural gas is :

(a) methane (b) ethane (c) propane (d) butane

[ zgg‘ / Turn over
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) f_r;/"'Ju}LJfr-_utd_’s.?J}
Aspergillus (d) Penicillium (c) Agaricus (b) Polyporus (a)
Which one of the following is an edible mushroom ?

(a) Polyporus (b) Agaricus (c) Penicillium (d) Aspergillus

- ‘at‘lgbffd"&i.lg/;pﬂi.nsz:mc_u;;«;fe

P

u.?ﬁ;@..u‘:ul (d) v (0 exhalation (b) inhalation (a)

The process of air passing in and out of the lungs is called

(a) inhalation (b) exhalation (c) breathing (d) none of these
Sl 4.:LJ“H.’/L'JZ.:’!@JL;;_»JEJJ’/.’IUM
Exz @ Fr (0 st () o (a)
are the chemical substances, secreted by endocrine glands.
(a) Hormones (b) Enzymes (c) Proteins (d) Fatty acids
Bt _ & 7§ St
& @ ZNC (g8 @) & @
Mudhumalai Wildlife Sanctuary is located in district.
(a) Chennai (b) Kanchipuram (c) The Nilgiris (d) Theni
P 1 O Y A T s
Comma (b) Ampersand (&) (a)
Hyperlink (d) Exclamation (c)
The character is used in text formula.
(a) Ampersand (&) (b) Comma

(c) Exclamation (d) Hyperlink

a1

A2

13

14

15
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SECTION -2/2 - ¥

10x1=10
Fill in the blanks.

The solid angle is measured in

A simple barometer was first constructed by

The study about stars and planets is known as

is observed as “World Wildlife Day’.

The boiling point of water is

An example for fossil fuel is

The first true land plant is

The place where two bones meet is termed as

Iron deficiency leads to

is a negatively charged particle.

[ gr‘;‘ / Turn over
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10x1=10

26.
27
28.
29.
30.
31
32,
33.
34.

35.

Match the following.
Dispersion of light

Neutrons
Hard water
Acids

Octane rating
Cyanophyceae
Glucose
Puberty
Bio-fertilizers

Sundarbans National Park

»ECTION -3/3 - 5

b o

Jok

JEdl «CO,
edh
JESH
LAUS
LE
o (J2) {

Sk

Ay ante

Stomach ailments
Petrol

CO,, water and heat
Sexual maturity
West Bengal
Rainbow

James Chadwick
Sour taste

Blue green Algae

Improves soil fertility

s & Ind S5t

28

T
Cyanophyceae

AE

.26

27

W

31

32

.33
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SECTION - 4/4 - 5
5x1=5 , | IS UEI LML W f i 29

Note : Answer the following questions in one or two words.

e VK ST et dh 36

What is the SI unit of luminous intensity ?

..’é‘;u’ff'»g;uib’atm 37

Give two examples for metalloids.

sl S 38

Who discovered Penicillin ?

- /278 (Thallus) 56 .39
Define Thallus.

L 6S¥ ‘Alveoli’ 40
Mention the function of ‘Alveoli’.
PART -II/11- <l
10x2=20 Bzl ey B8 it s eI

Note : Answer any ten of the following questions in brief.

Al Ui L et I m

Name the three scales which are used to measure temperature.

¢ gl WL 3uId a2
What are the effects of heat energy ?

e MK T 43
What is earthing ?

[ ,/:_ﬂr;" / Turn over
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T

What is an ultrasonic sound ?

UK Ut NASA L usa bl ustasey!
Name the Indians who worked at NASA.

: éfllﬁd//‘b"iiyﬂ
Y@ A © i (b) FT @

Write symbol for the following elements :
(a) Oxygen (b) Gold () Calcium (d) Iron

eI U e Y
What is dry ice ? What are its uses ?

St GINdiat

Write any two properties of anode rays.

B By ILY,

Define Acid.

e 3ol dtid e U dinug ot L A uitstt St
Name the places in Tamilnadu where wind energy is produced using windmills.

sz (pathogens) (it
What are pathogens ?

-gu./;” é/dk))&d):}‘;{ul‘fl

Write any two differences between algae and fungi.

-J /8 (Prokaryotic) . +# #{
Define Prokaryotic cell.

47

49

51

D2

.53



_’QEMEJULLEJI:L%QI;:}L&A
List out the changes which occur during puberty.

J:i;ud Gy T VeI brac B

What is endangered species ? Give two examples.

PART - III / III - &

&)
-

SECTION -1/1- U;

2x5=10 izl i

Note : Answer the following questions.

_’d‘.”(tﬁuﬂ’ﬁdl/é“lydﬁ‘_ﬁu.@ﬁwm}/ (Yeast) <

Draw a neat labelled diagram of the structure of Yeast.

el urL el

Draw the structure of Amoeba and label its parts.

SECTION - 2/2-%

6x5=30 Szl ey Siosr

Note : Answer the following questions.

b AL UEN LS u S (a)
{
PN A I ()

(@) List out the base quantities with their units.
OR _
(b) Explain the working of a periscope.

[ £3° / Turn over

8966

55

57




8966 10

..‘Lt/rrKC)J’;féyUJ ?.:"_.Lf.?,)ﬁ’ls}{l
b
& _*J..g{.:ar.‘.b b
(a) What is electroscope ? Explain how it works.
OR

(b) Write a note on Earth’s magnetism.

e b W e soae
Brfe (i)
SaBE (i)
(Quick lime t2 fk (i)

e

¢ IS S sorir i\ TR
B 0
ALkl s (i)
BB (i)
(a) Mention the uses of the following compounds.
(i) Baking Soda
(ii) Bleaching powder
(i) Quick lime
OR
(b) How does carbon-di-oxide react with the following ?
(i) Sodium
(ii) Lime water

(iii) Sodium hydroxide



(@)

(@)

(b)

(b)

11

St UL U
L
g é eolon urj..il?d:ff
What are the uses of bases ?

OR
Explain the different types of coal.

N S Ty
L

-& 60 L exhalation s inhalation

Write a short note on bacteria and its structure.
OR
Differentiate between inhalation and exhalation.

SIS Z st U
b
‘-'u_?ég}ilﬁ.’gb’é.xﬂ:fﬁ:lg./rdbfywﬁ%.lu'r

<

What are the functions of skeleton in human body ?
OR

(b)

(b)

(b)

What can you suggest to your classmates to keep himself/herself clean and healthy ?

-00o0-
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Fops MleNlwied / SOCIAL SCIENCE
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& 3jare] : 2.00 wenfl CHrw ] [ Qwrés wHlbuarser : 100
Time Allowed : 2.00 Hours ] [ Maximum Marks : 100

Slejenrset : (1) dAmandg adarss@Epd sflurst udeaurd o drersr eraTuFmand

sfluriggsé Oararerayb. FsLLHealler Gapulmubea, oms
sansreniLurerflid o L anquirsd Csflellgse.

2 Beob ooz smUY oolmar wLECL TWFHUSDHEGD
3y &CaETHeugnH@GL Lwearu(BhSs Ceuamr(Hid. UL BISGET cuamFeusn
Quenfled LweTIHEGSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@s - 1/ PART -1
Ylfley - 1/ SECTION -1

GOy : () Swensg famssEps@n el wefldseab. 10x1=10

Note :

(i) Qsr@sésuul(Herer Brewm@ wWrHn el sefled WG erhHLemL W
eflenLenwis CabsHS5E GHUIL® erawmani e allenuleamanb Cargg
T(PSaLD.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.

1. 1453 b yawr(h smemevL_mewriq Crmder wmyred ensULDDULL LG ?

(=) YQArEh&ETTTSHET (=) SmSEH WTSHET
(@) LFm&sTriser (FF) pmdCawrger
In 1453 Constantinople was captured by :

(a) The French (b) The Turks

(¢) The Dutch (d) The British

[ Hliys / Turn over
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2. “dmsAlyriuerefl GrsLemnd” wrypred Qeuefludtiul L g ?

(=1) wmg CsTHTTsHeT (<=4) SmeigewTiiL BruIsSsT
(@) Ceugy pr&flwmi () Sren Semanoene
“Thiruchirapalli Proclamation” was issued by :

(a) Marudu Brothers (b) Krishnappa Nayak

(c) Velu Nachiyar (d) Dheeran Chinnamalai

3. &mrgr Gwhes Smweanm wCsrgreurary SndlsErsarar GomDHsLULS S Lo

QUIIENS era Blirewruisss).

(1) 11 (=) 12 (@) 13 () 14
Sarada’s Child Marriage Bill fixed the minimum marriageable age for girls at :
(@) 11 (b) 12 (c) 13 (d) 14

4. wawenflen Goablene AHES :

(=1) sflo e HES (<=,) Ged wewr 2[HES
(8) =g war (FF) Sgdger LTerD
The top layer of soil is called as :
(a) Organic layer (b) Top soil
(c) Subsoil (d) Bed rock
5. B, Brrefluledmbg Brrs wrmid wpensE eremm QL.

(=) Bymefl Hyeuomi &HEEGsL (<) eNwurse
(@) ugmsLIZM (F) wenp
The process of changing water from gaseous to liquid form is known as :

(a) Condensation (b) Evaporation
(c) Sublimation (d) Rainfall



10.

3 8967

g uiflisareilen QgaGamg peaner

(=) Cal Wemmmiigsm () DAG@DLSTE (LpHET
(8) memanblGdens pener () Gal Lejyen

The Southernmost tip of Africa is .

(a) Cape Blanca (b) Cape Agulhas

(c) Cape of Good Hope (d) Cape Town

FreneuseT QEmearTL omblevid

(1) STBTLSD (<) OPBTEH (@) Csrerm (FF) QRigagm
State having Bicameral Legislature :
(a) Karnataka (b) Tamil Nadu () Kerala (d) Odisha

Curs@eursgsd GoHluiGsailar s wums ;
(=) slLmw GHuGser (=) erésfsens GHuiHseT

(@) ssad GHLSGsE () @aupBlé> ergieyBiaa
The first category of traffic signs is .

(a) Mandatory signs (b) Cautionary signs

(c) Informatory signs (d) None of these

@pHw epumi GMuIigenar ) euigeuegSeum wmr ?

(=) 2 sWw@wLTT (=) iorgsHur Claer

(@) =195 urerrg) (FF) @eumled ereumHd @evenen
Who designed the symbol (%) of Indian Rupee ?

(a) Udayakumar (b) Amartya Sen

(c) Abijith Banerjee (d) None of these

soUUU CummenTgry Henenlosetlen Heeneu eTeiTLIg) :

(=) pgoreiggiound (<) FgiTOWD

(8) (=) wpgid (<b) (7) Qeupdledr ergiblreney
Mixed economy is the mixture of merits of :

(a) Capitalism (b) Socialism

() (a)and (b) (d) None of these

[ Slpiy& / Turn over
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Sifley - 2/ SECTION - 2

Camg L @ msener Hlyliys. 10x1=10
Fill in the blanks.

11. Siy seogrener @nFwrs Corhsiydseur
Tipu Sultan was finally defeated at the hands of

12. Qpslw waseflen aurpsasuier @f emudmanhs UGHWLTS QHHSS.
was the integral part in the life of the people of India.

13. @ndurellen ‘2 ererm & eplibler sHs’ eTemm HAMPESUILIHLIGUT
is rightly regarded as the Father of Local Self-Government in India.

14. eramg Gnéw srogle eualwam s UL WIHDERSMETS

Samieugl GLD.
refers to the condition of atmosphere for a short period of time.

15. erarug) Srmolyp u@dsafler CFwou@n @b Quureyssrer e w
2 Hgé STrenflium@i.

is the major push factor operating in rural areas for migration.

16. epeolurmlseaier glueLule umsd Cpsaureme

@gmflemaLb.
Based on raw material Cotton Textile Industry is a Industry.

17. @QbdHwus sLeus F genans Gumm (Passport) GeuafiBmiqed eurpd @BHHws @lgosen
e iep&sLILBE DT,
An Indian citizen who is residing outside India and holds an Indian passport is called

18. 2 wir fHwempd @bHwurefer Lipewwrer 2 wir BHwEHD <ELD.
The High Court is the oldest High Court in India.
19. flsphlere curidlenw TEIMID BENLPEHSHEMLD.

Online Banking is also known as

20. saflwrt gevm Crraasdler QawaouBEng.

The Private sector is on motive.



21.

22,

23.

24,

25.

26.

27,

28.

29,

30.

v 1
22,
23.
24.
25.
26.
27,
28.
29.

30.

QUT(HSHIS.

Bevs e
QwasrCe

LTSS

uafggiefl wHmILD
wenpsgef
SUTWST sLhleyser
Blppul e i UL
GphamsseT

Gehos 2 gail

GNLDWI G 6HoT

S(HLIL| LiewriD
W TLIES &P
Match the following.
Nil Darban
Macaulay

Dacca

Snow and rain Drops
Hazardous waste
Choropleth Map
Children

Child helpline

Black Money

Think Tank

1

]

91fley - 3/ SECTION - 3

1098
auffl eriomhmiLIGUTEET
SMHSGIL UL LD

STOTEUEWITET LD(THbSISHET

evedlen gjewfl
HlE 2,Cwirs
&6 LOENLY

gl sweil

@ e Cam efleugmulisatien gwirb

QU(HEISTE (Gl LD&ESEET

1098

Tax evaders

Thematic Map

Outdated drugs

Muslin cloth

NITI Aayog

Sleet

English Education

Misery of the Indigo cultivators

Future citizen

8967

10x1=10
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u@&$ - 11/ PART - 11
Sifley - 1/ SECTION -1

sureomm) / HISTORY

GDILY : ereneuCuenid mesE allamss@Ené@ LB ellenweflsseab. 4x2=8

Note : Answer any four questions only.

31. prevwmseaien péSlwsgieud uDM 6T (PSS

Write about the importance of coins.

32. 1859-60 @e merLClupm @eryCar (Sjeyfl) swsddnE sryewd eremer ?

What was the cause of Indigo Revolt in 1859-60 ?

33. umeETW&ESTTI&ET eresueur wmr ? Hefler QUWETE dnmis.

Who were Palayakarars ? Name some of them.

34. BrETHST LIOSMOEHSD LDH 2 BsEnsE Csfleug wmg ?

What do you know about Nalanda University ?

35. weal YrCgsmaer sraalligges paTULD euearTéflulle saflsgeubrar bFDOTS
G mbser. erem ?

Hilly areas were distinctive features of colonial urban development. Why ?

36. @nHw alhgemas GurprlLgde rFEULL waduwrer Huarsamers GHLIEGHS.

Mention the important Women Freedom Fighters of India.



7 8967

9ifley - 2/ SECTION - 2

yeSluflwed / GEOGRAPHY

@Dy : eTemeuCuienid mresE elamés@rss LB e weallsseaib. 4x2=8
Note : Answer any four questions only.
37. Slureppser ereueurm o (heurdleanper ?

How are igneous rocks formed ?
38. &m @Hlly euenys : Camarsmhy.

Write a short note on : “Planetary Winds”.
39. ‘@Lib QUWs’ - uMTUMIGHSHELD.

Define ‘Migration’.
40. eupl&luden cuenssamerd @GHILILAGHS.

Mention the types of drought.
41. gHsrbd Hlevew CUTmHETTSTT HL Uy SMESHET erammTed eTene ? 6T(HSSISSTL (H L6

Cgatleurs@s.

What is Quinary Economic activity ? Elucidate with an example.
42. aueruLd Carl (& FLLb upd Hny GHLY euenys.

Write a short note on map projection.

ifley - 3/ SECTION - 3
Glgemwuflwed wHnId Cunmeflued / CIVICS AND ECONOMICS

@Mlly : eremeuCuenid Grewnr(n cllamésEné@ LB efeL waflssab. 2x2=4
Note : Answer any two questions only.
43. Wsoaw&sT ereueurn HlwBssuuBSprT ?

How is the Chief Minister appointed ?

[ ipliys / Turn over
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44. gCaayb pren@ srene elflsemer 6T (LHFIs.

Write any four traffic rules.

45. fer-eumdl wHmD Wer-uead Am GHUY euenrs.
Write short note on E-Banking and E-Money.

46. Gurgi geopsdr GPsH Ay GOILY TWEIs.
Write short note on Public Sectors.

U@ - 111/ PART - I1I

GOy : Spsargmd elamssEnsE ellepLwel&sea]w. 6x5=30
Note : Answer the following questions.
47. (=) YmdCowisear ereueury @bSHwreller FmseTg QUTHSS LD WIEISEDET
BimieSlerr ?
S|V6VG)
(=) DA g 6y L Henw elfleyuBSs Lobanerd Yy Carar® cubs CEreransani
upd eleuflGseaLd.
(a) How did the British establish their trading centres in India ?
OR
(b) Describe the policy adopted by Lord Dalhousie to expand the British Empire in India.

48. () swewr, Quergds wLLTOWRSaN® Soalllear WsHws Fmmsamerss UMM
aflleurdl&EseyLb.
EYEANES]
(<) 1991 -ib Y@ FrHmssusErsEl e Gsmfpgempuie eauerisdlenw
allen&Gs.
(a) Discuss the essential features of learning in Jaina and Buddhist Monasteries.
OR
(b) Explain Industrial Development after 1991 reforms.



49.

50.

51,

52,

9 8967
(21) wareantlenar cuansliL{BSS efleufldsayd.
LNV
(<) Brappéluler LoGaun Ly Hleaosmert uLggiL e eleufléseyLb.
(a) Classify and explain the Soil.
OR
(b) Explain the different stages involved in the hydrological cycle.

(=1) Qzmfler el sens Hliamuis@n yelulwed srrafllsamar cllarsE@s.
2|06V

(<) LGfssreler Qunens Wfleysemer eripd seupde gCGsaubd qardlenar
eflerésa]Ld.

(a) Explain the Geographical factors which determine the location of Industries.
OR
(b) Write the physical divisions of Africa and explain any one of them.

(=1) swwerTuDm Hevedl B&EE e GCpeneu ?

IESNEVE ]
() gevenr Qrramieuts UL UDBl eT(psIs.
(a) Why do we need Secular Education ?

OR
(b) Write about Paramilitary Defence forces.

(=) Callliy wHMID WPHSOHSEREGL 2 ater CoumurHiger wreneu ?
3|6060G)

(<) Qurgisgieapuien 2 pliger unil eSlend@s.

(a) What are the differences between savings and investment ?

OR
(b) Explain the organs of Public Sector.

[ Hplys / Turn over



8967 10

U@ - IV /PART - IV

GOluyY : wrPns Spesrefl wrameaursedr srsCsr® wWHML uamruLsde Hape-
sememld @Liisemend GHUGLHE s (Heusn@ LSors eunenls LHmHiw
@ollygseer LB erps CouarT(HLd. 5x1=5

Note : Differently abled candidates have to write only note for the questions related to
Time-line chart and Map.

53. Spsam_euninEs srsCsrh auamrs :
(<=1) @@LLen SWrF FbUGLD
(=) woe YmdGaw - enwgT Gumr
(@) sésTaRT HOBHLD
(F) Seorwrgy Gumrr
(20) ‘@&CLmflwr warmresfluliear Cuydésams’
Draw a time line on the following :
(a) The Black Hole tragedy
(b) The First Anglo-Mysore war
(c) Deccan Riots

(d) Battle of Adayar
(e) ‘Queen Victoria’s Proclamation’

U@ - V/PART -V
19ifley - 1/ SECTION -1

GOy : s elamssErsEh elanLwelléseaib. 5x1=5
Note : Answer all the questions.

54. @pdlw ypeufl euenruLgHer Essamcunennsd GMHEse
(=) Qareslen
(=4) uranrig FCa
() &8
(FF) w&ETT
(=) urpsyr
Mark the following places in the outline Map of India :

(@) Cochin

(b) Pondicherry
(c) Swurat

(d) ‘Buxar

(e) Barrackpore



55.

(
(
(
(
 (2ar) QeEWCym
(
(
(
(

11

Yifley - 2/ SECTION - 2

2 @& UL S SpsamrL @)L msmars GhHlésey

(=1) Qreguim

%) HIALe

8) grisuGres
m) pHwr

2 ) Sleorarigds QUHRSL6

er) 2Cwhssm
) &anr
) Oger QwhlEsT
@) udllbs QuEmmsLe
Mark the following places in the World Map :

(@) Russia

(b) New Delhi

(c) Equator

(d) Asia

(e) Atlantic Ocean
(f) Cairo

() USA

(h) China
(i) South America
(j) Pacific Ocean

-00o0-

8967

10x1=10
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Register Number

SOCIAL SCIENCE / ={i/*

(Urdu and English Version / ul_,JdZ/ﬁAlwl )

[ & 2.00 : =5 100 : L |
Time Allowed : 2.00 Hours | [ Maximum Marks : 100

LWL Sy PR Seo N2 e S g Lol (1) 1l
e L L e Bl Lo S Dkl @

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
PART -1/ I- &4
SECTION -1/1 - ¢
10x1=10 gl e @) e
25N e S e s (i)
Note : (i) Answer all the questions. .

(i) Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.

Wi (27 1458 A
Uz (b) Ul ()
ur A (@ Uiz&h (9
In 1453 Constantinople was captured by .
(a) The French (b) The Turks
(c) The Dutch (d) The British

[ &% / Turn over
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WOl iz
£l () Uiy ()
dugore @ Atk ()
“Thiruchirapalli Proclamation” was issued by : '
(a) Marudu Brothers (b) Krishnappa Nayak
(c) Velu Nachiyar (d) Dheeran Chinnamalai

JE AL IS YL LSt SE b
14 (d) 13 (0 12 (b 11 (a)

Sarada’s Child Marriage Bill fixed the minimum marriageable age for girls at :

(@ 11 (b) 12 © 13 d) 14
4-311:‘/-:464:'cm69
Gy ) 20t (@)
oldb = (d) dus  ©
The top layer of soil is called as :
(a) Organic layer (b) Top soil
(c) Subsoil (d) Bed rock

; ‘LHH/J! AT étr_urfédg

£ | F @
Jh (@) gF (©

The process of changing water from gaseous to liquid form is known as :
(a) Condensation (b) Evaporation

(c) Sublimation (d) Rainfall



JEL (b)

Gited ()
The Southernmost tip of Africa is

(a) Cape Blanca (b) Cape Agulhas
(c) Cape of Good Hope (d) Cape Town
2 (d) v e

State having Bicameral Legislature :
(a) Karnataka (b) Tamil Nadu (c) Kerala

W (b)

ety @)
The first category of traffic signs is

(a) Mandatory signs (b) Cautionary signs

(c) Informatory signs (d) None of these

8968

PRPAT AT I%) B
st (@
XL (©

: ‘Lﬁalgl»ulf?.y_p = 4

(b) &S ()
(d) Odisha
o il Ba o 8

e Foab ()
sl (9

WABLY R) et 9

Lz (b)
ety @
Who designed the symbol (%) of Indian Rupee ?

M (a)
Ere2d ()

(a) Udayakumar (b) Amartya Sen
(c) Abijith Banerjee (d) None of these
— LIRS =2 10
<L1F (b ey ()

Shedy @
Mixed economy is the mixture of merits of :
(a) Capitalism (b) Socialism
(¢) (a)and (b) (d) None of these

[ &4 / Turn over
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SECTION -2/2-%

10x1=10 L

Fill in the blanks.

S BuA L Ui hyt
Tipu Sultan was finally defeated at the hands of :

P AT ARSI
was the integral part in the life of the people of India.

—e bl GuBbianP | Ui b nd
is rightly regarded as the Father of Local Self-Government in India.

*‘L_')béw&/ﬁ’s/‘?.gjyc

refers to the condition of atmosphere for a short period of time.

..‘LJ{&J’JJSJ.(U(&ZL{ U
is the major push factor operating in rural areas for migration.
e e et
Based on raw material Cotton Textile Industry is a Industry.

- c"_l:'llf':lepb’..w;rg&t"u-'-wlnﬁ:ﬁu;/;:?dfdl'ﬁﬂ.-g

An Indian citizen who is residing outside India and holds an Indian passport is called

..:"__wfgjwﬁc./ufu%k.:uféy
The High Court is the oldest High Court in India.

- bl ST
Online Banking is also known as

~&- M;‘b?ggb

The Private sector is on motive.

JA1

A2

13

14

15

16

18

19
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21,
22.
23.
24.
5.
26.
7.
28.
29.

30.

Match the following.
Nil Darban
Macaulay

Dacca

Snow and rain Drops

Hazardous waste
Choropleth Map
Children
Child helpline
Black Money
Think Tank

[ 23¢ / Turn over

5

SECTION - 3/3 - 5

1098
oot
25 Sy
=Ll 035/

{34

T NITI
s

s
oSl L

.

1098

Tax evaders
Thematic Map
Outdated drugs
Muslin cloth

NITI Aayog

Sleet

English Education

Misery of the Indigo cultivators

Future citizen

8968
L &R Soune
u’-JJJ-: 21
::’._)K.( 22
Ji 23

B sy 24

e 25

-.’ﬁ’d'{.dlbféal;:_ﬂ K7 26

& 27

JHE 29
s 30
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PART - 11/ TL.&s}
SECTION -1/1 -5
HISTORY / &t

4x2=8 Lzl ety sl

Note : Answer any four questions only.

_éu':ejl_.&:-:ﬁlJu;c,

Write about the importance of coins.

ool S sl S~ 1859-60
What was the cause of Indigo Revolt in 1859-60 ?

el de S EKY,

Who were Palayakarars ? Name some of them.

W TTTL Sk gl

What do you know about Nalanda University ?

U~ & ISy UL G280 T

Hilly areas were distinctive features of colonial urban development. Why ?

VP BB B

Mention the important Women Freedom Fighters of India.

32

35



7

SECTION -2 /2 -5
GEOGRAPHY/ JI2

4x2=8
Note : Answer any four questions only.

How are igneous rocks formed ?
Write a short note on : “Planetary Winds”.
Define ‘Migration’.

Mention the types of drought.

8968

2l b S ud
‘G LASLGST a7
-Jw}-«‘%g{ ‘U:Ilﬂ(}!)'l(" 38

2 I .

o SiLB a0

s Jeoln s VLJ(‘?‘.—QJJ [ ‘?9.\_/ (Quinary Economic activity) d/;d‘ lr-JJ‘? = ékw 41
What is Quinary Economic activity ? Elucidate with an example.

& :,)ﬁ?.g{ (map projection) I 42

Write a short note on map projection.

SECTION - 3 /3 - %

CIVICS AND ECONOMICS/=\besslag e

2x2=4
Note : Answer any two questions only.

How is the Chief Minister appointed ?

[ &4 | Turn over

-u.‘iyiﬁé:aﬂlr »é[ e s

fetr T )’JS /-J i Iyis 43
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-é/._ﬁﬁ'..ﬁ_/‘/!f f}(

Write any four traffic rules.

-ufa _‘,3"/‘?{1]-(5 le'ugé’-U' !

Write short note on E-Banking and E-Money.

L i 2
Write short note on Public Sectors.
PART - III/ III- -:—.:‘I;
6x5=30 T I ARSIeY S Y

Note : Answer the following questions.

L AA A IS v At (@)
¢
-égg‘étgf‘ffgzLdeu_AL@’?de;w/.wuum ()
(a) How did the British establish their trading centres in India ?

OR
(b) Describe the policy adopted by Lord Dalhousie to expand the British Empire in India.

_é:.i{ayﬁd)u(!ﬁ%ﬁunwamwf (a)
L
el SRl S 1991 (b)
(a) Discuss the essential features of learning in Jaina and Buddhist Monasteries.
OR
(b) Explain Industrial Development after 1991 reforms.

47

48



(a)

()

(b)

E AN Sl
¢
“Z ol § SIS s S i
Classify and explain the Soil.

OR
Explain the different stages involved in the hydrological cycle.

ﬂgidﬁf?:{Gﬁb?ﬁkzgaﬂb&ﬂﬁﬂ%ﬂd
¢
el L L B
Explain the Geographical factors which determine the location of Industries.

OR

Write the physical divisions of Africa and explain any one of them.

S Ul § S
[
S FEL OIS 68.9
Why do we need Secular Education ?

OR
Write about Paramilitary Defence forces.

St ISR e
L
LB UsNL 2
What are the differences between savings and investment ?

OR
Explain the organs of Public Sector.

[ éf_'l}‘ / Turn over

(@)

(@)

(b)

(b)

@)

(b)
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49

51

52
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PART - IV/ V.2

5x1=5 -§.L'aﬁ_‘.:?.J/"i/uUbgbsbﬁijoﬂlry c'_...ﬁ;}s’:.;.lgé:;:’:d;u x|
Note : Differently abled candidates have to write only note for the questions related to

Time-line chart and Map.

: D Eimtiytione 53
$/dnlt ()
Lt Kl (o)
..':A;LJLUC (©
S @

Skl (o)
Draw a time line on the following :
(a) The Black Hole tragedy
(b) The First Anglo-Mysore war
(c) Deccan Riots
(d) Battle of Adayar
() ‘Queen Victoria's Proclamation’

PART -V / V- &
SECTION -1/1 - €
5x1=5 -u:."a.,.lﬁ.ﬁ.:..mrf t &
Note : Answer all the questions.

L ZE B\ AL S Yo 54

S (@)
A% (b)
=y ()

A~ @
4l (@)
Mark the following places in the outline Map of India :

(a) Cochin

(b) Pondicherry
(c) Surat

(d) Buxar

(e) Barrackpore



10x1=10

11

SECTION - 2/2 -/

Mark the following places in the World Map :

(a)
(b)
(©)
(d)
()
®

(8
(h)
(i)

()

Russia

New Delhi
Equator

Asia

Atlantic Ocean
Cairo

USA

China

South America
Pacific Ocean

-00o0-

S IES eSS 5o L ETL

Ju

(a)
(b)
©
(d
()
®
(8)
(h)
(i)
),

8968







